
���������
	���
���� ��������	

���������� "!
#���$&%�')(+*-,/.0�21"�435�6��798: "�;(+<�<
 =*-�2��>"��8: "?@8A��?CB6#=<D(��FEG(+#:H�IJ(+.0K)<D��$LI2(�!
HNMN�DO�?C(+B6#-(+<�<
 =*-�
��>=�&8: "?-I2(+.0K)<P(���(-QR$C#=<���(+#S��<�,T���UHV7"!��UWS :B0!
B6#"?-X-<��UQR$C#:H=<���$N��!
(LY+��!
<�����>"�&H=B6<���(+#:QR�+�
Z (9[]\^�U<�QR!_B08A�`��>"�a*-$+��B0$C#b$+cd��>"�a8: "?�,:B6QR��$+!
Be(+.6.0fg(+#:H]Y5B6(�,/(�!
(+*-����!
B6Q@�UW5 =(���B0$C#:<��
Z 8T[ihDB6#:Hb��>"�j<�,A���UHk(+#=H�H=B0!��UQR��B0$C#k$+c;��>"�a8/ "?l(+.0$C#"?g��>"��.eB6#"�&QR$C#=#"�UQR��Be#"?]Em��$]M�npo�$LIq(�8A$C "�

��>=�a>"$+!
B0r�$C#S��(+.V(+#=HbY+��!���B6Q�(+.V<�,A���UH=<sn
Z QL[]o�$LItcu(�!�B6<���>"�`8: =?-cv!�$C*w��>"�&$+!
B0?CBe#x(�cv����!�3N<��UQR$C#=H=<_n

35��y�>"��cu(+QR�a<���(����UHzB6# Z 1"�435�4{C[@���U.e.6<` =<@��>=(��&B0cJ(]8: "?]��!
(LY+�U.6<a(��&(xQR$C#=<���(+#9�a<�,T���UH|(+.6$C#"?b(x<���!
(+B0?C>S�
.eB6#"�aQR$C#=#=�UQR��B6#"?gM}(+#=H~E�7T��>"�U#���>"�j<�,T���UH:<�B6#k��>"�j>=$+!
B0r�$C#S��(+.d(+#=H�Y+��!���B6Q�(+.�H=B0!
�UQR��B0$C#=<PI�B6.6.�8A$+��>
8A�^QR$C#=<���(+#S���FyP>=Be<�B6<J(g�L�_���x���;�L�
�e���=,:!�$+,A��!���f-$+c�.eB6#"�U(�!F*N$+��B0$C#](+#=Hl��>:B6<��R')��!
Q�B6<��@<�>"$�I�<JIF�@*j =<��
8A�kQ�(�!
��cu =.��G�) ",:,T$C<��](p8: "?p8A��?CB6#=<-(��g��>"�k.0$)Q�(���B0$C#�M�� Z �����9[lB6#���>"�k�:��,:.6(+#"�b(+#:H���!
(UY+�U.e<
QR$C :#9����!
Q�.6$5Q
KSI�Be<��l(+.0$C#"?]��>"�g =#=B0�@Q�B0!
Q�.0����$b��>=�-,T$CBe#9�aE�� Z �)�U�L[_�gO^<�<� =*-����>"�-8/ "?b*-$LY+�U<�(��a(
QR$C#:<���(+#9�^<�,A���UHx(+#=Hx��(�K+�U<@�-<��UQR$C#=H:<���$N��!
(LY+�U.���>=Be<2,:(���>��
Z (9[b�)K+����Q
>�(�,:B6QR�� "!��`$+c���>"�a<
B0�� =(���B0$C#]8A�UB6#"?-<��� :H=B0�UH��
Z 8T[x�2$C*-,: "���&��>=�&8: "?C<PQR$C#:<���(+#9�@<�,A���UHk�acv!
$C*�M���$]E�85fxH=B0Y)B6H=B6#"?�H=B6<���(+#=QR�`��!
(UY+�U.6�UHk85f]��B6*-�

�U.e(�,:<��UH��
Z QL[] ¡!���,:(�!��@(jQR$C#9Y)B6#=Q�B6#=?j(�!�?C :*-�U#9�J��>=(���#"�UB0��>=��!F��>"�@>"$+!
B6r�$C#9��(+.T#"$+!2Y+��!���B6Q�(+.A<�,A���UHg$+cV��>"�@8: "?

Be<PQR$C#=<���(+#S���
�5��y�>"��Q� ",-$C#-��>"��¢¤£6¥`>"$C.6�J$+cA(@?+$C.0cAQR$C "!
<���B6<;.6$5Q�(����UHNH=�U(+HNQR�U#9����!FB6#���>"��*NB6H=H:.0�F$+cA(`Q�B0!
Q� :.6(�!D?+!����U#
I�>=B6Q
>�B6<@¦¤�gcu�����@B6#�H:B6(+*-������!U��§�$C "!@8:(+.6.�Be<�.0$)Q�(����UH~(+<�Be#k��>"�j,:B6QR�� =!��&8A�U.0$LIa��O^<�<� =*-����>=(��@f+$C 
,/ "������>=�j8/(+.6.d(��`(iQR$C#=<���(+#S�&<�,A���UH~B6#�(i<���!
(+B6?C>9�`.6B6#=��B6#S��$g��>=��Q� =,V�`O�<�<
 =*-��B0����(�K+�U<a{i<��UQR$C#:H=<
��$g.6(+#=HxB6#]��>"��Q� ",V�

Z (9[xo�$LI¨c©(�!�H"$5�U<���>"�`8/(+.6.A��!
(UY+�U.un
Z 8T[]hDB6#=Hª,:(�!
(+*-����!_B6Qi�UWS =(���B6$C#=<jcv$+!-��>"�x*-$�«

��B0$C#]$+cD��>"�&8/(+.6.¬�
Z QL[xo�$LIwc©(�!NB6<���>"�x8:(+.e.Fcu!�$C*­��>"�bQ� =,®(�cv����!

�5�4X-<��UQR$C#:H=<_n
Z H/[i¯G>"��!��G(+#=HmI�>"�U#}H"$S�U<ª��>"�G8:(+.6.gQR!�$C<�<

cu!�$C*}��>"�&!�$C =?C>x$C#9��$l��>"�&?+!����U#/n
ball 32 feet

green

cup

72 feet
rough

9

1"��y�>"�PQ� ",N$C#l��>"�&�U°¤£6¥a>"$C.6��$+cA(@?+$C.6cAQR$C =!
<��PB6<�.6$5Q�(����UHl1&cv�����F<�$C "��>N(+#=HN1&cv�����¡�U(+<��¡$+cT��>"��QR�U#S����!F$+c
(�Q�B0!_Q� =.6(�!J?+!����U#iI�>=B6Q_>gB6<�X¤1�cu�����2Be#g\^±�O^²�%¡yP%F�&�5§�$C "!28:(+.6.TB6<J.0$)Q�(����UHx(+<�B6#l��>=��,:BeQR�� "!���8A�U.0$�I&�
O^<�<� :*-�]��>=(��-f+$C �*NB6<���(�K+�U#:.0fp,: "������>"�]8:(+.e.FI�>=B6Q
>³��!
(LY+�U.6<N(��-(|QR$C#=<���(+#S�N<�,A���UH�B6#�(|<���!
(+B0?C>S�
.eB6#"�&��$�IJ(�!
H���>"��QR�U#9����!@$+c;��>"��?+!����U#��P±´����(�K+�U<&¦l<��UQR$C#=H=<���$l!
�U(+Q
>���>"��QR�U#S����!@$+c���>"��?+!����U#���µ^<��
H:B6<���(+#=QR�& =#:B0��<2$+c;h�%F%¡y¶(+#:H]��B6*-�a =#:B0��<J$+c��"%J�P·@¸^\&�iB6#]��>=B6<2,:!�$+8:.0�U*x�

�



cup

ball
green

30 ft

24 ft

enters green

rough

leaves green

18

N

E

Z (9[]hDB6#:H],:(�!
(+*-����!
BeQ@�UWS =(���B6$C#=<�cu$+!P��>"�a*-$+��B6$C#x$+cD��>"�`8:(+.6.¬�
Z 8T[io�$LItcu(�!�B6<���>"�`8:(+.e.Acv!�$C*w��>"�aQ� ",b(�cu����!^X-<��UQR$C#=H=<_n
Z QL[i¯G>"��!���(+#=HxI�>"�U#xH=$S�U<���>=�&8:(+.6.AQR!�$C<�<�B6#S��$-��>"�&?+!����U#�(+#=H]$C "�P$+c���>"�&?+!����U#Tn
Z H/[ihDB6#:H-I�>"�U#g(+#=HNI�>=��!��P��>"��8:(+.6.=B6<FQ�.0$C<��U<��F��$a��>"�^Q� ",V� Z o^B6#9� � �J$C#:<���!
 =QR�¡(�.6B6#"����>=!
 N��>"�^Q� ",

,A��!�,A�U#=H:B6Q� =.6(�!J��$N��>"�`,:(���>b$+c���>=�`8:(+.6.¬7)��>"�U#��:#=HiI�>"��!��`��>=�U<��&��IJ$g.eB6#"�U<2B6#S����!
<��UQR��� [
Z ��[]hDB6#:Hx(-cu :#=QR��B0$C#]$+c��F��>:(���QR$C*-,: "���U<P��>"�aH=B6<���(+#=QR�`cv!
$C*���>"�`8:(+.6.A��$l��>"�aQ� ",b(��^(+#9fi��B6*-���s�
Z c_[i¯G>"�U#b(+#:HxI�>"��!��&Be<2��>"�&8:(+.6.V°-cv�����Pcu!�$C*���>=�&Q� ",Tn

X5��O�<�K5BF.6B0cu�� =<��U<�(�Q�(�8:.0�g!
 =#=#=Be#"?x8A����IJ���U#³(�<���!
B6�U<a$+cP��>=!����l��$�IF��!
<U��±�#ª��>"�l,:BeQR�� "!��l8A�U.0$�I&7D��>"�
.6��cv��*-$C<��d��$�IF��!;B6<���>"�¡8A��?CB6#=#:B6#"?P(+#=Ha��>"�F!_B0?C>9��*N$C<�����$�IF��!;B6<���>"�F�U#:H���¯|�JI�B6.6.Ccv$)Q� =<V$C#jH"�U<�QR!_B08:B6#"?
��>=�@*N$+��B0$C#l$+cdf+$C "!�<�K)B6<���¯ >"�U#if+$C ��=!_<��F<�B6�JB6#l��>"�`Q
>=(+B6!U7S��>=�^<�K)B6<��� :<��F��$C :Q
>]��>"�^?+!�$C =#=Hi(��2��>"�
.6$5Q�(���B0$C# Z �)7 �9[�B6#]��>"�a,:B6QR�� "!�� �

(1500,120)

ground slope
chair(0,10)

II

III
(3000,110)

I

¯G>"�U#gf+$C l�R'"B0�F��>"��.6B6cv��79(�?C(+Be#lf+$C "!2<�K)B6<	�� =<�����$C :Q
>i��>"��?+!
$C =#=H��DyP>"�^Q�(�8:.0�P��!
(LY+�U.6<2(��F(jQR$C#=<���(+#S�
<�,T���UH�$+c^���gcu������
¤<��UQR$C#=HV��O^<�<� =*-�j��>"�-Q�(�8:.0�U<`H=$i#"$+�`<�(�?b(+#:H���>=�j>=Be.6.�<�.6$+,T�U<@ ",~(��&(]QR$C#=<���(+#S�
!_(����&$+c�� ��
��� �
Z (9[]\^�U<�QR!_B08A�`,:(�!
(+*-����!
BeQ@�UWS =(���B6$C#=<�cu$+!P��>"�a*-$+��B6$C#x$+cdf+$C =!�<�K)B6<28A����IJ���U#b��$�IF��!
<�±2(+#=Hx±�±s�
Z 8T[i\^�U<�QR!_B08A�`,:(�!
(+*-����!
BeQ@�UWS =(���B6$C#=<�cu$+!P��>"�a*-$+��B6$C#x$+cdf+$C =!�<�K)B6<28A����IJ���U#b��$�IF��!
<�±�±J(+#=Hx±�±�±s�
Z QL[i¯G>=(���Be<���>"�`��$+��(+.�H:B6<���(+#=QR�&f+$C =!�<�K)B6<2��!
(UY+�U.�cv!
$C*w<���(�!��P��$��:#=B6<�>Tn
Z H/[i\^�U<�QR!_B08A�`��>"�&,=!��UQ�Be<��`.0$5Q�(���B6$C#x$+cDf+$C "!�<�K)B6<�(�cu����!��&*NBe#S "���+�;1g*NB6#5 "���U<���X-*NB6#5 "���U<��
Z ��[i¯G>"��!���(+#=HxI�>"�U#x(�!
�&f+$C "!�<�K)B6<�.0$)Q�(����UH�X��Ncv�����^(�8T$�Y+�&��>"�&?+!
$C =#=H/n
Z c_[i¯G>"�U#bH=$Nf+$C b(�!�!
B6Y+�&(�����>"���:#:B6<�>/n

3



{5��y�IF$ª,=!
(+QR��B6Q�Be#"?p>"$)Q�K+��f®,:.e(Uf+��!
<i.0$)Q�(����UH�(��g,T$C<
B «
��B0$C#=< � (+#=H�� B6# ��>"�p,/B6QR�� "!��+� yP>"�p,:.e(Uf+��!�(��
,T$C<
B0��B0$C# � <���!
B0K+�U<@(i,: =Q
K/7AI�>=BeQ
>�IF�jI�B6.6.d(+<�<� =*N�
*-$LY+�U<;(��;(^QR$C#=<���(+#S��<�,A���UH�(+.0$C#=?���>"�2.6B6#=�¡QR$C#=#"�UQR��«
B6#"? � (+#=H�����(+<�<
 =*-�lB0�`��(�K+�U<-3x<��UQR$C#=H=<&cu$+!a��>=�
,: =Q�Kz��$�?+$~cu!�$C* � ��$����~O2�j��>=�i<�(+*N�]Be#=<���(+#S��7
��>"�P,:.6(Lf+��!J(��F,A$C<�B0��B0$C#���<���!
B0K+�U<¡(a,: =Q
K/7SI�>=B6Q_>-IF�
I�B6.6./(+<�<� =*-�`*-$�Y+�U<�(��P(�QR$C#=<���(+#S��<�,A���UH](+.0$C#"?-��>=�
.6B6#"�&QR$C#=#=�UQR��B6#"?	��(+#:H�
��/(+.6<�$g(+<�<� :*-��B0����(�K+�U<@3
<��UQR$C#=H=<�cu$+!P��>"�a,: =Q�Ki��$N?+$Ncu!�$C*�� ��$

��

A
B

D C

40 ft

50 ft

30 ft

30 ft

50 ft

30 ft

20 ft 30 ft

rink

centerline

centerline

Z (9[]\^�U<�QR!_B08A�`,:(�!
(+*-����!
BeQ@�UWS =(���B6$C#=<�cu$+!P��>"�a*-$+��B6$C#x$+cd�U(+Q_>k,/ =Q�KT�
Z 8T[i\^�U<�QR!_B08A�`��>"�a.0$)Q�(���B0$C#x$+c��U(+Q
>�,: =Q
Ki(�cu����!���� 1l<��UQR$C#=H=<��
Z QL[b�2$C*-,: "���`��>"��H=B6<���(+#=QR�`8A��� IF���U#k��>"�`��IJ$l,: :Q�K)<P(�cv����!j��� 1g<��UQR$C#:H=<��
Z H/[g¯|!_B0����H"$�I�#b(lcu =#:QR��B0$C#��N��� Z ��[2I�>=B6Q
>xQR$C*N,: "���U<���>"�aH=B6<���(+#=QR�`8A����IJ���U#k��>"�a��IJ$g,: :Q�K)<P(��

��Be*-���
Z ��[i¯G>"�U#bBe<���>"�&H=B6<���(+#=QR�`8A����IJ���U#b��>"�&� IF$g,: =Q
K5<�1C�Ncv�����_n
Z c_[i¯G>"�U#bBe<���>"�&H=B6<���(+#=QR�`8A����IJ���U#b��>"�&� IF$g,: =Q
K5<�X-cv�����_n
Z ?S[i¯G>"��!���H"$-��>"�&,:(���>:<�$+cd��>=�&��IJ$l,: :Q�K)<PQR!�$C<�<_n

¦S��O�cu����!¡(`Y)B0?+$+!�$C =<;<�$5Q�QR��!J*N(���Q
>�7)yPB6*q(+#=H
²kB6Q_>=(��U.¡H=�UQ�B6H"�-��$�>:(UY+�g(b?C.6(+<�<&$+c2��>"�UB6!
cu(LY+$+!
B0����!���cu!��U<�>=*-�U#S���@yP>"��fx�U(+Q
>p!
 =#kBe#
(`<���!
(+B0?C>S��.6B6#"�2(+.0$C#"?@��>"�PBe#=H=B6Q�(����UHj,:(���>=<
(���( <�,T���UH¶$+cb���®cu��
¤<��UQ��  D(�!
(+*-����!
B0r��
��>"��*-$+��B0$C#l$+c�yPB6*�(+#=Hg²kB6Q_>=(��U.:Be#=H=B0Y)B6H)«
 =(+.6.0f+�zhDB6#:HªI�>"�U#�(+#=H�I�>"��!��]yPB6*­(+#=H
²kB6Q_>=(��U.�(�!��`Q�.0$C<��U<�����$-$C#"�`(+#"$+��>"��!��=(+.6<�$
QR$C*-,: "������>=Be<�*lB6#=B6*j =* H=B6<���(+#=QR�+� Z o^B6#9� �
µ�<��-��>=�N<���!
(�����?+f|H"��Y+�U.0$+,A�UH|B6#~%;')��!
Q�B6<��
35�4�5�43+X5���J��?CB6#i8SfgB6#=<���!���Be#"?&��>"�^,:(�!
(+*-����«
!
B6Qb�UW5 =(���B0$C#:<gcu$+!]�U(+Q
>G,A��!
<�$C# B6#S��$ª��>=�
H=B6<���(+#=QR��cu$+!
*j =.6()7V.0�U(+H=Be#"?g��$b(]c© =#=QR��B6$C#
� Z ��[_�F²kBe#=B6*NB0r��@��>=Be<2cu =#:QR��B0$C#�� [

michael

(200,300)

(400,50)
tim

(-20,260)

PowerPunch

Gatorade

°5�������� "!
#l��$j%�')(+*-,/.0�P1"�435�4X5�Fo�$LI c©(�!JB6<¡��>"��8/ "?&cu!�$C*m��>=��$+!
B0?CBe#N(��F��Be*-� ���q�Ln]¯G>"��!��@(+#=HlI�>"�U#
I�B6.6.T��>"�&8: =?j8A�&Q�.0$C<��U<��P��$N��>"�a,T$CBe#9� Z �57 1S[�n�¯G>"�U#bB6<���>=�`8: "?l{�cu�����Pcu!�$C*���>"�&$+!_B0?CB6#/n

¢5� �@O ��$5Q
KSfk²k$C =#S��(+B6#k FB6#"���J������.0�jB6#"cu�U<���(���B0$C#kBe<
*-$LY)B6#"? (+QR!
$C<�<kO^#"?+�U.6(�� <k�U(+<�����!
#t¯p(+<�>=B6#"?+��$C#
!
(+#=Q
>V�qy�>"��8A������.0�U<]*-$�Y+�|cv!
$C* !_B0?C>9�i��$�.0��cu�
(+QR!�$C<�<���>=�P,=!�$+,A��!�� f+79(+<�,:BeQR�� "!��UH��DO�<
<� =*-����>=(��
��>"��,T$CBe#9�`M�B6<`*-$�Y5Be#"?x(��&(x<�,A���UH~$+c^���+�x*-�R«
����!
<�
¤H=(Lfi��$l��>"�a.0��cu���

infested zone

1 km

3.5 km

2.8 km

P

Q

Z (9[i¯G>"�U#bBe<���>"�`�U#S��B0!��&,=!
$+,T��!
��fl��!_(+<�>"�UHx85f]��>"�`8A������.0�U<_n

�



Z 8T[g¯G>=(���Be<���>"�&<�,A���UHx$+c���>"�aB6#=cv�U<���(���B6$C#x(+.0$C#"?N��>"�`��$+,�8A$C =#=H=(�!�f=n
Z QL[]hDB6#:Hx(-cu :#=QR��B0$C#]I�>=BeQ
>xQR$C*-,: =���U<P��>"�&(�!��U(N$+c���>=�aB6#"cu�U<����UH]!���?CB0$C#k(+<P(-c© =#=QR��B0$C#]$+cD��B6*-���s�
Z H/[g¯G>"�U#xI�B6.6.T��>"�aB6#=cv�U<����UH]!
��?CB0$C#b>=(LY+��(�!��U(-8A��� IF���U#ª�`K5* � (+#:Hk3�K)* � n
Z ��[]hDB6#:Hx(-cu :#=QR��B0$C#]I�>=BeQ
>xQR$C*-,: =���U<P��>"�&B6#=cv�U<����UHb!���?CB0$C#x,A��!
B6*N������!P(+<P(-c© =#=QR��B0$C#]$+cD��B6*-���s�
Z c_[i¯G>"�U#bH=$S�U<���>=�aB6#"cu�U<����UH]r�$C#"�a>:(UY+��(N,T��!_B6*-������!�$+c2���NK)*gn

���)�^�P�UQ�(+.6.5��>"� �2B6.6.6(�!_H&,=!�$+8/.0�U*tBe#��_�5�4�5�6����O^<�<� =*N�Ff+$C 
<���!
B0K+����>"�a8:(+.e.V(+#=HkB6�P��!
(UY+�U.e<^(gQR$C#=<���(+#S�`<�,A���UHb$+c
3��NB6# 
¤<��UQ`(+.6$C#"?N��>"�&H"$+�����UHk,:(���>��
Z (9[xhDB6#=Hz,:(�!
(+*-����!
BeQl�UW5 =(���B0$C#=<�cu$+!���>"�]*-$+��B0$C#

$+c-��>"�p8/(+.6.¬� Z o^B6#S� � �J$+��>t��>"�ªQR$5$+!
H=B6#:(����
c© =#=QR��B0$C#=<2I�B6.6.T8A�@*j =.0��B6,:(�!��2cu :#=QR��B0$C#=<�� [

Z 8T[i¯G>"��!��aB6<2��>=�&8:(+.6.A.0$)Q�(����UHk(�cu����!^3-<��UQR$C#=H=<_n
Z QL[i¯G>"��!��aB6<2��>=�&8:(+.6.A.0$)Q�(����UHk(�cu����!^X-<��UQR$C#=H=<_n
Z H/[i¯G>"�U#bH"$5�U<���>"�&8/(+.6.�<���!
B0K+�`��>=�&Q� =<�>=B0$C#Tn
Z ��[i¯G>"�U#bH"$5�U<���>"�&8/(+.6.�.6(+#=HxB6#]��>=�`,T$)Q�K+���_n
Z c_[i¯G>"�U#bB6<���>=�`8:(+.6.V3�cu�����Pcu!�$C*���>"�`,A$)Q�K+���_n

4 ft

5 ft

12 ft

6 ft

this pocket for the big money

1


